20162228 BERAIVINSFUT

BFLIUTILR
JIE 32 £ i XEH &5 B S e &t
1|5 B BEXE 600 450 400 1450
2| EFE BEEABXRE 160 600 400 1160
3dbA T BEEABXRE 300 300 200 79 879
4|t g% fEE K= 20 300 200 520
5[t mE AEEREXE 160 160 40 360
6|E)Il i BEEXE 80 160 40 60 340
sl FEE fBEKE 80 160 40 40 320
8|&ZM =K BEEABEXRE 160 160 320
9%k Kith BEABXRE 20 40 200 260
10|l R BEKXE 20 20 200 240
1WA @EE BEEXE 80 40 40 21 181
13|53 K# fEEKE 80 80 6 166
13| HEh BEXE 80 80 6 166
14| pty BF fEE K 40 80 40 160
151K A ABRKE 80 20 40 11 151
16| Bk iE 18 EIGEERXE 40 80 20 140
175580 U fEEKE 40 40 20 11 111
18|H =X BEXE 40 40 21 101
20(ER RFE fEE K 20 40 20 11 91
20|.LEF BF EAXZEZE 20 40 20 11 91
23|5F RER REEAXZE 20 20 40 6 86
23| A I&E RN FIT K= 80 6 86
23|78 L[5 BEXE 40 20 20 6 86
24|28 ME RN T K 40 20 20 80
25(F1R EF EEHEKRE 20 40 6 66
261 EAER RN F LK 2 40 20 2 64
28| KAR #E RIFKZE 20 20 20 2 62
28|5% fEXRER NN HFITKE 20 40 2 62
N2|EHM #EX fEE K 20 40 60
32| {HEE AEERERE 40 20 60
NR20(EmH B AEFEREXE 40 20 60
32dtE K RIGEEXE 40 20 60
B[AE K— BEXE 20 20 6 46
40| 5 HEIE fEE K= 2 40 42
0|8F B2 EEKXE 40 2 42
40(fEH Bl BEEABXE 40 2 42
40 | B B (50 R H T K 2 40 42
40| % EXR EEXE 20 20 2 42
0| =FF #th REEARKXZE 20 20 2 42
40| E B KEB BEKXE 20 20 2 42
41§82 EE BEEXE 20 20 40
45(HK FE BEEABXRE 2 20 6 28
45|5% & BEXE 20 2 6 28
458K RIGEEXE 20 2 6 28
45|80 JE K RIGEEXE 2 20 6 28
46 [#37k  FOis EEXE 20 6 26
52|t BE EEXE 20 2 2 24
52| KF_ I EEXE 2 20 2 24
528 B2 BERHBEXRE 2 20 2 24
52| H #&F EXREEXE 20 2 2 24
52| M RIGEEXE 2 20 2 24
52|55 H KR REERKXZE 2 20 2 24
54[H K & EE AEFEREAE 20 2 22
54|Faft B A BEEBEXE 20 2 22
55|A 0 Fn# A HE T K 20 1 21
61|53#H BA RIGEEXE 20 20
61[{FiE Eih PN AN 20 20
61| FEEES BEREXE 20 20
61| [/2Z2 NN 20 20
61|=mEH BBk K= 20 20
61[=%F b ERXFEXE 20 20
62(Hh FEHE BEEABXRE 2 2 6 10




2016 2A22HRERANSUXTUT

TFIUTILA
[t A E=%:0) = = = 5 z

o EEE  eaeE T I 7 B s G

2| HBE EEARZEXE 20 308 200 -
RG-S S BEEABXE 80 1 i e
4| Ks FED BEXE 40 ig 700 : 530
6)IIO BKEE RIGEREKE 150 80 2 e
6|=Z Lt BHE FAEFERXE 150 80 o
1R EBK BEARFXE 80 40 o
8|l EE NN EEKRE 20 o0 e
1481 o+ FAmFRKE 40 o 20 0
11{FH vhY FAR KR 20 %0
11E&E & BEXE 20 5 0 20
12| R¥E BE BEEABXE 20 28 . o
13[3 &m0 HIREEREERE 20 40 % - o
14| ERIFF BF RIGEREKE 40 £ e
15|98 tis FAR KR 40 :8 5 5
16(E:8mi EIGEREKE 20 20 - o
174 B% RIGEEKE 40 2 o
19| THN BREXZE 20 zztg 5 55
19| %W = fEEXE 40 20 ; =
22|10 = FAR X EREKRE 20 20 : a
2|AxRH BE BEARFXE 20 20 : i
22|hE Inf FAEXERKE 20 20 : -
24| E=EH RIGEBEXE 40 : >
24| H X EEXE 20 2(2) -
25|/MIL Erk AR X FRRE 20 2 - .
26| e X8 FAEXERKXE 20 ; e
27|1188 FiF BEREXE 20 : T =
28|HIE FIE RIGEBEXE 2 T o
30 E%‘i FY RIGKE 20 2 g 55
30 #}E% 24 i [ 22
3 BAZE e 30 2
34[/hHK BEE BEEABXE 2 2(z) A
4|FEL #FES BEREXE 0 : :
UM E HP BIREXE 0 : :
35|f AR K KZE 2 : 2
42| P ERRE £ RN FE T K 2 g 1 7
ATy YA hTEZEERIAXE 2 2 ;
2\EL BE ERBEEKXE 0 2 ;
42|iBA_ thE AR X EREKRE 0 2 ; ;
42| £ EAFEARF 2 2 : 1
2EE g% AR X FERKRE 2 2 ;
2IUT EiE REIGEXKE 0 2 2 3




20162 22BBRERAVIFSXUYT

BFATILR
532 £ il REH 5= 2= it &t
1|1lE EE FEEFEREAE 150 300 300 40 790
2|HiK FEE FEEEREAE 40 300 300 640
AR B BEXE 225 150 25 400
4Ll R BEXZE 225 150 25 400
6|+ ETF BEEARBXRE 300 80 380
6|5 =A BEEAREXRE 300 80 380
7|E BEKXE 40 225 100 365
8[ILE M1E BEXE 40 225 29 294
9|AR A— BEXE 80 80 100 11 271
10/ $F BEEABEXRE 80 100 20 200
12|85k BE BEKXZE 80 80 160
12| sk BEEABAE 20 40 100 160
3[R HEiEt BEXE 80 40 10 29 159
14[AF Z=X BEXZE 40 80 10 20 150
15[ E BAHR BEXE 40 80 11 131
16|t A4 BEKXZE 80 40 10 130
17]db & & EIGEREAE 80 40 1 121
18| B R {3 AN T K 2 80 25 107
19| B K NN HITKE 80 25 105
20(&)1l Rt BEXE 40 20 10 20 90
22| K _EE BEEAREXRE 40 40 2 82
22|H FEHE BEABAE 40 40 2 82
23|7% fEAER AN T K 20 40 10 6 76
24|15 $RER REAXZE 40 20 6 66
25| H B3 BEEARBEXRE 20 40 2 62
26(#K 5 ABRKRE 20 20 10 11 61
275K HE AR ERAE 40 20 60
297/l ER AMEEKRE 20 20 11 51
29| LB B EAXRZEERE 20 20 10 1 51
311k AR TN 337 K 20 20 6 46
NEH -F BEKXZE 0 40 6 46
341550 g fahE K= 2 40 2 44
M|ER RF BEXE 2 40 2 44
34 E FhFE BEXZE 40 2 2 44
3B[B|=ZFH Fth REAXE 20 20 2 42
36[FI1 A RIGEERE 20 20 1 41
40|35 )11 ¥ {5 BEREEEXRE 20 20 40
0% BE BEXZE 40 40
40 (B8 5% FEIGEBREXE 20 20 40
40| amE TN 33T K 20 20 40
41|AO Fn# TN 33T K% 20 10 2 32
42|k FHEAN EARZEXE 20 2 6 28
46(FEB FE 2 EAZEXE 20 6 26
46| KF i EEXE 0 20 6 26
46| TaEs BREXZ 20 6 26
46|+ EX EEXRE 0 20 6 26
A7 |[tEEa s REEARKE 20 2 1 23
55[mH B EBEXZE 0 20 2 22
55( ARHE N AN T KE 20 2 22
55|k HF @& EAZEXE 20 2 22
55|#k  FO4 EEXRE 0 20 2 22
55|HAAR REEARKE 20 2 22
55| K AR 18 REBXZE 0 20 1 21
55| R+ %R Pt PN 0 20 1 21
55| T2 B E# BEREEEXRE 0 20 1 21
62|NH K= ABRKRE 20 20
62| %% REAKE 20 20
62EH & REAXZE 20 20
62|18k —#t AMEERE 20 20
62|BEH H1F AR EREAE 20 20
62| =M BEE NMEEKRE 20 20
62| Kk ME NMEEKRE 20 20
63| K# BEXE 2 2 6 10
65|tk &k KR KZE 0 2 6 8
65 /DI AR NN 0 2 6 8




2016 2A22HRERANSUXTUT

TFFTILR
R A K= = 3 z
1A HEE #E%ﬁﬁé 150 1 =5 HE Bat
2|%H =3 BREXE 150 150 2 o
3| Y& B K 20 150 2 2od
5|88 tis FAEFERKE 112 - = : T
5 75
5|+ BHE FAR KR 112 7 s -
6| KM FEWD BEXE 20 112 2 o
8| ARH HE BEARFXE 75 40 o ; o
8| K& B&E BEAFXE 75 2 ; o
o|hst EE EAFEKXE 75 ‘7“5) = 2 =
10|HTE #E BEEABXE 40 2 o
13|138)I ¥ AR FREAE 40 28 > = 5
13| FR XK BEEABXE 40 2 e o
13[FH uHY PR KE 40 28 2 o
14|75 H F=EH RIGEREKE 20 20 e o
15| LRIRF EBfE RIGEREKE 20 40 = : o
16[)IlE #kiE RIGEEKE 20 20 : 0
19]J114A &= FAmZFRRE 20 40 = 0
19(He x£EB AR X EREKRE 40 20 ; s
19|hE K AR Z R K 20 4 : -
UNIIE S FAR X EREKRE 40 20 : =
21|HIE & RIGEBEXE 20 20 a
23|35H HHY EIGEREKE 20 20 5 .
23| PE BE RIGEREKE 20 28 ; 5
24| KiE HE RIGEREKE 4 2 .
26|+ I A BIREXZE 0 28 e
26|FELL X BIREXE 0 20 : T
21188 F= ARXFRRE 20 2 5 7
30])110 %&4kk hTEZEERIHXE 20 2 - >
30|TBMHHE FAR X EREKRE 20 2 7
30| AT TEZEERHXE 20 2 -
31|FHAX Ef EBEEREXRE 2 2
32|/h#k BEE BEEABXE 0 7 A
M|IUT EfE RIGXKE 0 2 T r
34| LD RIGKE 2 : :
36|18 FiF BIREXZE 0 : :
36|4TE HAO BIREXE 0 g :
6




